REFERENCES



- Berman H.J., Weeks L.E., Kukla S.F. (1986). The Financial Management of Hospitals 6th ed. Health Administration Press. Michigan.
- Breyer, F.(1987). <u>The specification of a Hospital Cost Function, a comment on the</u> <u>Recent Literature.</u> Journals of Health Economics 6: 147-157
- Chongsuviwatwong V., Sujariyakul A., Pannarunothai S. (2000). <u>Who Gains and</u> <u>Who Loses Under the Thai DRG Payment?</u>. Casemix Journal 3
- Cotterill, P., Bobula, J., Connerton, R. (1986). <u>Comparison of alternative relative</u> weights for diagnosis-related groups. Health Care Financing Review, Spring 7, 3: 37-51
- Dalton K.(2000). <u>Background on the wage-related portion of the Medicare DRG</u> <u>Payments. North Carolina Rural Health Research Program</u>. Available from : <u>http:// www.shepscenter.unc.edu. [2002, 5 January]</u>
- Faher, J., Fung, G., Harper, I.R.(2000). <u>Public Hospital Costs in Two Australia</u> <u>States.Australian Economic Review</u> 33:182-193
- Finkler, A.(1994). <u>Cost Accounting for Health Care Organization</u>. Asten, Maryland
- Freidman, B., Pauly, M.V.(1981) . <u>Cost Functions for a Service Firm with</u> <u>Variable Quality and Stochastic Demand: The case of Hospitals.</u> Review of Economics and Statistics 63: 610-624

- Gaynor, M., Anderson G.F. (1991). <u>Hospital Costs and the Cost of Empty Beds.</u>
 National Bureau of Economic Research Working paper series No.3872 :
 1-21
- Goldfarb, M.G., Coffey, R.M.(1987). <u>Case-Mix Differences Between Teaching</u> <u>and Nonteaching Hospitals.</u> Inquiry 24:68-84
- Hospital Inpatient Funding Policies,2000-2001 [Online] Available from : <u>http://www.health.gov.au/casemix/hosp_polic.pdf [2002</u>, February 1]
- Kominski G.F., Long S.H.(1997). Medicare's disproportionate share adjustment and the cost of low-income patients. Journal of Health Economics 16:177-190
- Nicholson W.(1985). Microeconomic Theory : Basic Principle and Extensions 3rd ed.. Holt-Saunder International Edition.Japan
- Office of the Permanent Secretary Ministry of Public Health , Health Insurance Office, <u>Universal Health Coverage Insurance Scheme</u>. Bangkok: Health Insurance Office, 2001. (Mimeographed)
- Pannarunothai S., Khunaratanapruk S. (1997). <u>Development of Payment</u>
 <u>Mechanism in Health System by DRGs</u>. Health System Research Institute, Ministry of Public Health
- Pannarunothai S. (1998). <u>Diagnosis Related Group for the low-income</u>,
 <u>Development and application</u>. Health System Research Institute, Ministry of Public Health

- Pannarunothai S., Kongsawatt S..(2001). <u>Cost per DRG relative weight for</u> <u>regional, general and community hospital.</u> Journal of Health Science 10:391-399
- Petergill, J., Vertrees J.(1982). <u>Reliability and Validity in Hospital Case-Mix</u> <u>Measurement.</u> Health Care Financing Review 4:101-128
- Santerre, R.E., Neun, S.P.(1996). <u>Health Economics Theories</u>, <u>Insights and</u> <u>Industry studies</u>. Irwin Book Team, Chicago.
- Sloan, F.A., Feldman, R.D., Steinwald, A.B.(1983). Effects of teaching on hospitals costs, Journal of Health Economics 2:1-28
- Sorkins, A.L.(1992). <u>Health Economics an Introduction 3rd ed.</u> p. 72-94. Lexington Books, New York
- Supachutikul A. (1996). <u>Basic Knowledge in Unit Cost Analysis of Health</u> <u>Service Providers.</u> Health Research Institute, College of Public Health.Chulalongkorn University.
- Vasuprasat P. (1979). <u>Hospital Cost Functions in Bangkok.</u> Master's Thesis, Graduate School, Thammasat University.
- Watts, C.A., Klastorin, T.D.(1980). <u>The Impact of Case-mix on Hospital Cost : A</u> <u>Comparative Analysis.</u> Inquiry 17: 357-367

APPENDIX

Table a : Average value of each variable in regional hospitals withteaching status

Variables	Ν	Minimum	Maximum	Mean	Std.
Average charge per RW (Bahts)	4	7984.81	13155.53	10,025.36	2211.78
Percent of Physician per bed	4	12.134	15.41	13.59	1.58
Average RW per case	4	0.88	1.24	1.02	0.17
Percentage of Board Certified					<u>_</u>
Physician	4	87.18	95.71	92.11	4.0
Percentage of Labor Cost	4	46	52	49.25	2.75
Percentage of Admission Rate	4	9.34	11.78	10.33	1.05
Percentage of Referral Rate	4	80.63	93.84	86.3	5.53
Inventory Turnover ratio	4	6.67	15.81	12.07	3.43
Case flow rate		-	· · · · · · · · · · · · · · · · · · ·		
(outputs/bed)	4	53.00	70.60	63.45	8.44

Table b : Average value of each variable in regional hospitals withoutteaching status

Variables	Ν	Minimum	Maximum	Mean	Std.
Average charge per RW (Bahts)	5	3,723.96	10,597.95	8,082.52	2,849.94
Percent of Physician per bed	5	9.04	22.43	14.42	5.38
Average RW per case	5	0.85	1.25	0.97	0.17
Percentage of Board Certified					
Physician	5	87.10	95.56	91.62	3.09
Percentage of Labor Cost	5	46.00	54.00	49	3.32
Percentage of Admission Rate	5	5.77	14.65	9.71	3.4
Percentage of Referral Rate	5	89.1	97.92	92.20	3.53
Inventory Turnover ratio	5	6.67	13.95	10.56	3.19
Case flow rate			<u></u> _		
(outputs/bed)	5	44.50	81.00	66.52	14.24

Variables	Ν	Minimum	Maximum	Mean	Std.
Average charge per RW (Bahts)	18	2663.04	10183.44	6775.93	2259.27
Percentage of Physician per bed	18	4.52	17.23	9.25	3.37
Average RW per case	18	0.70	0.94	0.79	0.07
Percentage of Board Certified					
Physician	18	62.50	100.00	88.36	10.31
Percentage of Labor Cost	18	47.00	69.00	56.61	5.64
Percentage of Admission Rate	18	6.03	15.89	10.15	2.96
Percentage of Referral Rate	18	15.88	89.19	75.27	15.22
Inventory Turnover ratio	18	5.83	37.85	12.84	7.53
Case flow rate					
(outputs/bed)	18	49.80	86.50	70.46	10.92

Table c : Average value of each variable in general hospitals

Variables	Ν	Minimum	Maximum	Mean	Std.
Average charge per RW (Bahts)	151	241.27	9374.6	2553.02	1419.93
Percentage of Physician per bed	149	2.22	50	9.22	5.10
Average RW per case	151	0.45	0.92	0.65	0.09
Percentage of Board Certified					
Physician	80	0	88.88	9.51	21.20
Percentage of Labor Cost	149	39	81	57.43	8.30
Percentage of Admission Rate	151	2.20	12.22	6.51	2.09
Percentage of Referral Rate	149	0.84	94.26	42.67	20.8
Inventory Turnover ratio	149	0.9	581.18	20.01	61.54
Case flow rate					
(outputs/bed)	151	38.9	206	104.83	36.28

Table d : Average value of each variables in community hospitals

Table e : Comparison of average value of variables in different levels of hospital

	Average	Percent of	Average	Percent of	Percent of	Percent of	Percent of	Inventory	Case flow
	charge per	Physician	RW per	Board	Labor Cost	Admission	Referral	Turnover	rate
	RW (Bahts)	per bed	case	Certified		Rate	Rate	ratio	(Output/bed)
				Physician					
Hospitals									
Regional hospitals with									
teaching status	10,025.4	13.59	1.02	92.11	49.25	10.33	86.3	12.07	63.45
Regional hospitals									
without teaching status	8,928.02	14.08	0.95	92.19	48.83	9.82	92.20	11.11	64.27
General hospitals	6,775.93	9.25	0.79	88.36	56.61	10.15	75.27	12.84	70.46
Community hospitals	2,553.02	9.22	0.65	9.51	57.43	6.51	42.67	20.01	111.29

Estimated regression model I

Variables Entered/Removed

Model	Variables Entered	Variables Removed	Method
1	rf, tr, lc, phy, gpp, lev1, lev2, lev3,		Enter
	invcfr100		

All requested variables entered. Dependent Variable: bath

Model Summary

Model	R	R Square	Adjusted R Square	Std. Error of the Estimate
1	.777	.604	.583	1576.4720

Predictors: (Constant), rf, tr, lc, phy, gpp, lev1,lev2,lev3,invcfr100

ANOVA

Model		Sum of Squares	df	Mean Square	F	Sig.
1	Regression	622644373.261	9	69182708.140	27.837	.000
	Residual	407583315.598	164	2485264.120		
	Total	1030227688.860	173			

Predictors: (Constant), rf, tr, lc, phy, cpi, gdp, lev1,lev2,lev3, invcfr100 Dependent Variable: bath

	Unstandardized		Standardized	t	Sig.	Collinearity	
	Coefficients		Coefficients			Statistics	
	В	Std. Error	Beta			Tolerance	VIF
Constant	1799.540	962.880		1.869	.063		
phy	19.353	26.356	.039	.734	.464	.845	1.183
gpp	3.156E-03	.002	.072	1.342	.181	.844	1.185
lc	-14.334	16.453	048	871	.385	.809	1.235
tr	1.557	2.140	.036	.728	.468	.965	1.036
invcfr	877.281	431.316	.130	2.034	.044	.588	1.699
rf	7.516	6.272	.074	1.198	.233	.636	1.573
lev1	6414.507	919.739	.395	6.974	.000	.752	1.330
lev2	4485.558	861.508	.308	5.207	.000	.690	1.450
lev3	3538.291	485.156	.443	7.293	.000	.654	1.528

Coefficients of estimated regression model I

Dependent Variable: bath

Estimated Regression model II

Variables Entered/Removed

Model	Variables Entered	Variables Removed	Method
1	lev1, tr, gpp, phy, rf, lc, invcfr, avrw		Enter

All requested variables entered.

Dependent Variable: bath

Model Summary

Model	R	R Square	Adjusted R Square	Std. Error of the Estimate
1	.686	.471	.445	1817.7234

Predictors: (Constant), lev1, tr, gpp, phy, rf, lc, invcfr, avrw

ANOVA

Model		Sum of Squares	df	Mean Square	F	Sig.
1	Regression	485048151.579	8	60631018.947	18.350	.000
	Residual	545179537.280	165	3304118.408		
	Total	1030227688.860	173			

Predictors: (Constant), lev1, tr, gdp, phy, rf, lc, invcfr, avrw

Dependent Variable: bath

Unstandardized Standardized Sig. Collinearity t Coefficients Coefficients Statistics Tolerance VIF В Std. Error Beta 1358.722 (Constant) -.523 .602 -710.418 51.315 .896 29.514 .104 1.739 .084 1.116 phy 2.171 .031 1.623 3085.307 1420.974 .157 .616 avrw 1.921 .056 5.173E-03 .003 .118 .855 1.170 gpp -2.299 .023 -42.013 18.275 -.139 .872 1.147 lc .598 .551 .034 .964 1.476 2.469 1.038 tr 2104.059 1.459 460.890 4.565 .000 invcfr .312 .685 6.851 .243 3.612 .000 .708 1.412 rf 24.743 .791 1034.179 .193 3.029 .003 1.265 lev1 3132.761

Coefficients of Estimated regression model II

Dependent Variable: bath

BIOGRAPHY

Name	:	Miss Supinda	Satornkij
Date of Birth	:	7 June, 1969	
Nationality	:	Thai	

Educational Qualification :

	Degree		Institutes	Year of Graduation
	Doctor of Dental Surgery (DDS.)		Mahidol University	1993
	Certificate in Endodontics		Chulalongkorn University	1998
Positi	on Held	:		
	Year		Position	
	1993–1995		Head of Dental Health Div	vision
			Maetha Hospital	
			Lamphun Province	
1995-present		Dental Health Division		
			Pathumthani Provincial Pu	ublic Health Office
			Pathumthani Province	
Addr	ess	:	Dental Health Division	
			Pathumthani Provincial Pu	ublic Health Office
			Pathumthani Province	
			e-mail : ssupinda@health.	moph,go.th

